
WAREHOUSE ASSEMBLY

TDS90 MULTIPURPOSE

TROLLEY

260 MM DIA WHEEL

12 BORE DIA.

(RICHMOND WHEEL-

WN4-PN1071)

M12 NYLON SPACER

M12 E FLAT WASHER (X2)

M12 NYLOC NUT

BICYCLE GRIP

FOR 21.3OD PIPE

END PLASTIC CAP TO

SUIT 50 X 25 RHS

PLASTIC CAP TO SUIT

21.3 OD PIPE

END PLASTIC CAP TO

SUIT 50 X 25 RHS

DRAWING NUMBER:

TITLE:

COMPONENTS

QTY ITEM

ASSEMBLY INSTRUCTIONS

1 THM90 HAMMER TROLLEY FRAME

2 260D WHEEL W/12 BORE DIA

(RICHMOND WHEEL

WN4-PN1071)

2 PLASTIC END CAP TO SUIT 50 X

25 RHS

2 M12 NYLON SPACER

2 M12 X 120 MM GAL HEX BOLT

4 M12 GAL WASHER

2 M12 NYLOC HUT GAL

1 BICYCLE GRIP TO SUIT 21.3

OD PIPE

PLASTIC END CAPS TO SUIT

21.3 OD PIPE

- -

WEIGHT:

ASSEMBLY

REVISION:

TDS90 ASSEMBLY

- -

Oz Ring Pty Ltd

Trading as:

Play Hard Sports Equipment

ABN 79 066 094 559

24 Ern Harley Drive

Burleigh Heads Qld 4220

Phone: (07) 5593 4494

Fax: (07) 5593 4338

Website: www.playhardsports.com.au

Email: email@playhardsports.com.au

sports equipment

1


	Sheets and Views
	TDS90 Assembly


